N N P\

\x ////////
A Lt

,‘\‘

“‘__. /,-

ﬁﬁ%ﬂjmmémz%i@ #126.0 ha |

IR

MR HEOR S, BRESEEROR,
RURREHHEOX S
R DR 54 x
HROR S R
WERORSE | .
RE#E1S
#E2s
EREE1S

Xl

]
]

TERL —
T

- *
NEEER =

[/ /7

NN\

CITTT]

O LS —
RE#®KIE
777

N

]

R

\

Ph—
l>l>l>l>l>\

*
o \ %
D_ 1 x\§ \ﬁ \

\
opygdg \’ ‘\‘\\ ® L_ /

\
i\;oooooooooOooo \\ OOOOO ‘ --------------- A‘ZC-4 3
RS T gooee°? - c2a)

[E

>>>P

X

g4 =

Xl

™
| B _Eljj E
.\-_|-|I+
e
o
dJjo

Sk

TRER2S
HERZEHTS (IBE2m) | eeeee
R | SERZEM2E (fEH2m) | 00000
DEiE HERZEMIE (IBE2m) (4466
RURR HERZEHAE (IFE2m) 00000
EIREHSS (BE3m) | OOO®
FEREHES (BA3m) | @000 |

SEIRZEHT7E (TRE2m) | * * * x %

il

> >
P
N
2
*

©
1©

M—T—TrTTrrrTrTT1]

“
/]
4

>

*
—

©
1©
“
1©

/1
//
e
V1

Sk

"
/1
/1

|

\\\\\\J\“ | \ S A8 RS,
\\Aw :
|

HES Q/\
| > >
.
.
N
—

//
orl®

000

oY
4
Oy
©V

i
fmf | fmf | fmf | fm

soee

S | S
I
N
—

>~

S
i |

4000

A-1

doosee

B
B
HER
B

!
0000000000000000000@/

®
w
0000600
|
%

L X2 2 4

Cooe

m&>®®
<&
<

100 50 0 100 A—FMJL
I BN

M4
= H

/ % %,

S ———

it

i
X E
N

hEZE |
[R5t

I3t

oy
OE
EE
1

=

o2 EE D& 7 &t it B

& R 1/3,000

/ ~\~\/'," % % 1 1)) 1

, Lo e EA B EH29E A B




